Kk

502 Anhang.

AV=1)"= 2@+ VO QA +VD' @+ V), m=12
F V=) = Vi "= T3
oyl 1_5 -|-\/_ |
Ver (V=15) =, m == T5
23—222—2x—4 — 4Vh g,
Ve f,(V=18)" = (3 +V13)* (5 - V26), B m = 78
AV =Van o4l BHVAL "= 8
16 f (V—85) = (14 V5)* (9 + V85), m = 85
HV—=88) =4(14+V2)* B4V (7V24-3VI1), m = 88

| S (V—_91) =z 28—22°—2—2 = Vﬁx m = 91
2f (V—03)"=(3V3 +W)3 (39 4-7V31), m = 93

F (V=97 = Vs, « + =9 + W m = 97

f (V=99 =24, ' m = 99
x3—1822 — 42 —1 = V33222t 2),

V2 £ (V=100) = z, m =100

—x—1=V5(@+1)
fi (V_—l—m)s =V (1+ V§)3 (3 V3+ Vﬁ)ﬁ, in—102
V¥ f(V=105)° =
A+Vs) A+ Vay (Va4 V7P (V54 V7), m=105
S (v_—l_m)s = m==112
V(4 V) V24 V7Y (s +V7),
8 £ (V=1200"= (1 -+ V3 (1 4+ V5)’' (V2 + V3 m=120,
(V3-+V5) (Va4V6)* (3 VI0),
V2'f (V=130 = (14+V5)* (3 V13), m— 130
2f (V:I3—3)4 = (3 V7)2 (5 V74 SVE), m=133
Si(V=142) = V2u, x—f—%: 9452, m—142




